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hat s the area, in square feet, of the figure below?
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In the standard (x,y) coordinate plane, what is the
distance, in coordinate units, between (~3,-2) and

(5.5)?
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§7. As shown in the figure below, a clock has a minute
hand that measures 5 em from its tip to the center of
the clock the nearest centimeter, what is the
distance traveled by the tip of the minute hand between

d 5:30 p.m. ?
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Find the area of segment POM. Round to the nearest tenth.
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20. A ramp for loading trucks is 13 feet long and covers
12 feet along the level ground, as shown below. How
many feet high is the highest point on the ramp?
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5L In the figure below, all line segments are either
horizontal or vertical and the dimensions given are in
inches. What is the perimeter, in inches, of the figure?

3

A. 10
B. 12
€l 13
D. 14
E. 16




image4.png
14, The B-nided figure below is divided into 5 congruent
squares, The n?ul area of the 5 squares is 125 square
inches, What is the perimeter, in inches, of the figure?
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